
Two-Digit Facts

57 x 1 = 61 x 1 =
57 x 10 = 61 x 10 =
57 x 100 = 61 x 100 =
57 x 1,000 = 61 x 1,000 =
57 x 10,000 = 61 x 10,000 =

73 x 1 = 18 x 1 =
73 x 10 = 18 x 10 =
73 x 100 = 18 x 100 =
73 x 1,000 = 18 x 1,000 =
73 x 10,000 = 18 x 10,000 =

47 x 1 = 39 x 1 =
47 x 10 = 39 x 10 =
47 x 100 = 39 x 100 =
47 x 1,000 = 39 x 1,000 =
47 x 10,000 = 39 x 10,000 =

34 x 1 = 67 x 1 =
34 x 10 = 67 x 10 =
34 x 100 = 67 x 100 =
34 x 1,000 = 67 x 1,000 =
34 x 10,000 = 67 x 10,000 =

55 x 1 = 1,183 x 1 =
55 x 10 = 1,183 x 10 =
55 x 100 = 1,183 x 100 =
55 x 1,000 = 1,183 x 1,000 =
55 x 10,000 = 1,183 x 10,000 =
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Multiplying by Positive Powers of Ten 
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Two-Digit Facts

57 x 1 = 57 61 x 1 = 61

57 x 10 = 570 61 x 10 = 610

57 x 100 = 5,700 61 x 100 = 6,100

57 x 1,000 = 57,000 61 x 1,000 = 61,000

57 x 10,000 = 570,000 61 x 10,000 = 610,000

73 x 1 = 73 18 x 1 = 18

73 x 10 = 730 18 x 10 = 180

73 x 100 = 7,300 18 x 100 = 1,800

73 x 1,000 = 73,000 18 x 1,000 = 18,000

73 x 10,000 = 730,000 18 x 10,000 = 180,000

47 x 1 = 47 39 x 1 = 39

47 x 10 = 470 39 x 10 = 390

47 x 100 = 4,700 39 x 100 = 3,900

47 x 1,000 = 47,000 39 x 1,000 = 39,000

47 x 10,000 = 470,000 39 x 10,000 = 390,000

34 x 1 = 34 67 x 1 = 67

34 x 10 = 340 67 x 10 = 670

34 x 100 = 3,400 67 x 100 = 6,700

34 x 1,000 = 34,000 67 x 1,000 = 67,000

34 x 10,000 = 340,000 67 x 10,000 = 670,000

55 x 1 = 55 1,183 x 1 = 1,183

55 x 10 = 550 1,183 x 10 = 11,830

55 x 100 = 5,500 1,183 x 100 = 118,300

55 x 1,000 = 55,000 1,183 x 1,000 = 1,183,000

55 x 10,000 = 550,000 1,183 x 10,000 = 11,830,000
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